


A RooPlot of "mass"
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Qug? = [ Plsi + biysi +b:)/P(si +bi,b;)  ie. data=sig+bkg

Qued = H P(bi,si +b;)/P(bi,b;.) ie.data=bkg

ALQ = 2nQEg — 2inQ .




Now | loop over all permutations in:
0000000000000000 111112
And get all possible boundaries, example:

000000000001010010011->{0.1,0.3,0.6,0.9,1}

Each time LQ is calculated and the best Q with the best binning is stored.
After all permutations we have that in our example we have optimal binning using 4
bins. Than we move to 5 bins.

0000000000O0O0O0O0OO0O11111 ->0OLD
000000000000000111111->NEW

And start the procedure again.



Evolution of ALQ
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